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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. The paper is divided in three sections. Questions from each section should be
_attempted together.

3. Al questions are compulsory.
4. . Marks are indicated against each question.

3. Answers may be written either in English or in Hindi, but the same medium should
be used throughout the paper.
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SECTION - A (W1 &)

Prove that on a downward sloping linear demand curve, price elasticity
varies from infinity to zero, as we move towards the ‘x” axis. (5)

OR

Define elasticity of supply. Prove that any straight line supply curve passing
through the origin has value of elasticity equal to one. (5)

From the demand function Dx = 12 - 2Px, derive (i) the individual’s demand
schedule, and (ii) what is the maximum quantity this individual will demand
of commodity x per time period ? (5)

OR

A newspaper article points out that the price of economics books is up 10%
this year over last year, and yet sales are high this year. The author claims
that these figures show that the law of demand does not apply to the text
books. What two mistakes has the author made in interpreting the law of
demand ? (5)

From the following demand schedule of an individual household for Lemoan,
calculate the price elasticity of demand :

(i) Using Point method (2.5)
(ii} Using Arc method ' (2.5)
Lemon
Price Per Unit Quantity {units/week)
10. - 20
20 15
OR

What do you mean by own elasticity and cross elasticity of demand 7 Why
is it that when two commodities are substitute for each other, the cross
elasticity of demand between them is positive, while when they are
complements, it is negative ? (5)
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Define consumer surplus with the help of diagram, using ‘Marshallian
Analysis’ 7 Explain why is water, which is essential for life, so cheap, while
diamonds, which are not so essential, so expensive ? (5)

OR

An Engel’s Curve shows a relationship between the consumers income and
the quantity of some good consumed (the price of good is fixed). How does
the slope of Engel’s Curve indentify whether the good is normal, inferior or

luxury ? 7 (5)

What is an inferior good ? Must the demand curve for an inferior good slope
downward ? If yes, give reasoning (hint: use the concept of income effect
and substitution effect) ? (3)

OR

Derive demand curve with the help of price consumption curve for a given
good. - (5)

“Consumer is better off with cash subsidy than with per unit excise subsidy”.
Explain why then all over the world, grants and aides are always given in the
form of excise subsidy than cash subsidy ? (5)

OR

What is corner equilibrium for a consumer ? Explain it graphically in case
of :

(i) Convex to origin IC ? (2.5)

(ii) Concave to origin IC ? (2.5)
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(i) Convex to origin IC ? (2.5)
(i) Concave to origin IC? (2.9)

SECTION - B (¥t &)

3. (a) What is production function ? How does a long-run production function
differ from a short-run production function ? Why is an isoquant convex to
origin ? For a particular combination of labour and capital, the marginal
product of capital is 6 units of output and that the marginal rate of technical
substitution is 2 units of capital per unit of labour. What is the marginal
product of labour ? (7.5)

OR
(b) Explain the following :
(i) Ridge Line
(ii) Expansion Path (7.5)
(c) Ifthe firm’s average cost curves are U-shaped, why does its average variable
cost curve achieve its minimum point at a lower level of output than the

average total cost curve ? Also explain why is SAC curve U-shaped ?
: (7.5)
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’ OR

(d) Can a firm have a production function that exhibits increasing returns to
scale, constant returns to scale and decreasing returns to scale as output
increases ? Explain with the help of a diagram. (7.5)
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4. (a) How does a producer chose an optimal input combination to maximize output
subject to a given cost ? (7.5)

OR
(b) Write short note or distinguish between :,
() Fixed cost and Sunk cost

(ii) Learning Curve | (7.5)
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{c) Explain equilibrium of a firm under perfect competition in the short run.
What is the shut down point ? Why would a firm that incurs losses choose
to produce, rather than shutting down ? (7.5)

OR

(d) In the long run equilibrium, all firms in the industry earn zero economic
profit. s it true ? Why do firms enter an industry when they know that in the
long run economic profits will be zero ? (7.5)
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SECTION - C (¥ =)

5. (a) What is meant by deadweight loss ? Why does price ceiling usually result in
a deadweight loss ? ' (7.5)

OR

(b) Explain and derive diagrammatically the long run supply curve of a constant
cost industry under perfect competitive market. (7.5)
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(e} The benefit of subsidy is shared by producers and consumers. What determine
. the share of a subsidy that benefits consumers ? Under what conditions will
producer receive most of the subsidy (under competitive condition) ?

(7.5)
OR ’

(d} Distinguish between Walrasian adjustment process of equilibrium and
Marshallian adjustment process of equilibrium. Show that an equilibrium can
be stable in Marshallian sense, but not in Walrasian sense. (7.5)
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